Suggested Solution to Even Numbered Problem in Relational Algebra

(2) Omajor="cscr(student)

(4) TUtName, IName, credit(OMajor="CsCl’ and credit >= 40(Student))
(6) TUdeptCode(Orank="professor(faculty))

(8) TUfName, IName(Student |X| Oclassid = 10000(€NTroOll))

(10) TUtName, IName, deptName, f_fName, f_IName(StUdent |X| Pmajor <- deptcOde(department) |X| f padvisor <- facld, f_fName <-
fName, f_IName <- IName (faculty))

Note that the renaming are necessary to differentiate columns from different tables with the same
names.

(12)  TUiname, IName, deptName(Student |X| Pmajor <- deptcode(department) |X| Ograge=a’(enroll) |x| class |x|
odeptCode:’CSCI’(faCUItY))

(14) T classid, facld, room(C€1aSS | X| (T classid(Ostuid=100001(€nroll))))
(16) TUclassld, facld, room(CIaSS | X | (T[ classld(GStuId=100001(enro”)) N n classld(GStuId=100002(enro”))))
Or

TUclassld, facld, room(CIaSS |X| T[classld(OStuId=100001(enro”)) |X| T[classld(OStuId:mOOOZ(enro”)))

(18)  Ttstuid, fName, IName(Student |x| (Ttstua(class) - Tstua(enroll)))

(20) TUstuld, fName, IName(StUdent |X| (0r00m<>room_2(nstuld, room (enrO“ |X| class) |X| Proom_2 <- room(nstuld, room
(enroll |x]| class))))

(22)  Tstwd(Omajor= cscr(student)) - Tstuid(Oracia= 1012(€Nroll |x| class))

(24) TUstuld, classid(enroll) / T classid(Oracid=1014(€Nroll))



